H & 0l & AHS B Ml A

20208 =0ila eI AtE =Xt
FA A=
M =MSACA EH
i H ES =) s QA (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A =R 14,291,359 11,012,848 3,278,511
= 1,504,731
Albl 3,839,697
Tl 8,946,931
SMSETAl 2 8,681,182 5,634,968 3,046,214
= 500,000
Al 3,258,000
Tl 4,923,182
HHe S8 x4 5,085,623 3,075,984 2,009,639
AlHI 3,008,000
Tl 2,077,623
32 ¥ KX 22|(HEAIY) 977,623 715,984 261,639
101 @124H| 194,122 257,483 263,361
U IIRINZZENSES 194,122 257,483 63,361
OZd, R&EX s 2el 159,009
bl 89,776 x0H 28U +6E 135,742
SRS Eatsy 3,000& x2&+28L«6E 1,008
L ECEEIE
135,742,000 5% 6,788
SUALBEHRES
135,742,000 %3.545% 4,813
- IEEERES 135,742,000 *1.75% 2,376
- MIHEERES 135,742,000 * 1% 1,358
Lo RYEERES
4,813,000& *12.95% 624
SAZE 300,000 9 2,700
SEY0U= 300,000 +9&H 2,700
STl ol &Hl 2L
100,000 «9& 900
OXtdal2d 2el 35,113
kal:] 89,7763 »2H 28U +6E 30,165
=UASEERE=S
30, 165,000 +5% 1,509
=AU EHRES
30, 165,000 *3.545% 1,070
- IE2ERES 30, 165,000& *1.75% 528
MHESRES 30,165,000 1% 302
L} RSEERES
1,070,000 %12.95% 139
- SXEE 300,000 x2&H 600
Y= 300,000 2 600
SHAATHO ol Sl 2=
100,000& 2 200
201 Ler23 | 146,691 141,691 5,000




FA AE=
B =MEAC A TH
(s B ESES] B e QRN (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 31,200 32,200 21,000
O8Il AlB= 50,000 »20H =128 1,200
OS=sk JIZHHUSSE S=0IAE 22
= 30,000,000 30,000
02 S3=gHl 115,491 109,491 6,000
OZ2gael E232= 84,066
Pl 3,000,000& «12& 36,000
ootz 8,000,000& ~6& 48,000
ST oY D AIBR
5,500 11+ 122 66
O&d, 78X AIE&dl =X 31,425
S8S 1,000,000 55 5,000
Sgaelx, X A 22| S
4,500,000& 4,500
=&, FEX AI2E 3l
5,000,000& 5,000
[ LTAM U 224 Fy|
5,000,000& 5,000
UL (A==, 2401 8)
7,425,000& 7,425
- 2I0I=0IAIE HIIAIEZ A
4,500,000 4,500
203 gF=4| 810 810
03 A=A =T 810 810
O=2g? 243 =4
900, 000& *90% 810
206 MH=Hl 22,000 22,000
01 MZH| 22,000 22,000
Oz&&el N+ 22,000
FY42 o @l 2
10,000,000& 10,000
=5 2 AIE= 22 2L
12,000,000 12,000
305 Hia =S 2,000 2,000
01 =S 2,000 2,000
Ozatiga(s22el) 2,000,000 2,000
401 Al HIZ S OHbI 595,000 280,000 315,000
01 AlZ2H| 595,000 280,000 315,000
O2& AMESE FIIHEEE 89
3,000,000& 3,000
O=XU 24191 A 50,000,000 50,000
028 NEE 2= - BLSAM
20,000,000& 20,000
OUES 3SPUHSE cILLEAG(F
BIEOI 0l &) 300,000,000 300,000




FA AE=
B =MEAC A TH
(s B ESES] B e QRN (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUizzoizad BHIAS(=eIF0i0)
200,000,000 200,000
O3¢ 2SS X (YU
7,000,000 7,000
OO0IZI0IS0IAIE DHAS B
5,000,000& 5,000
O W 0fR10150lAIE H
10,000,000 10,000
405 KHoHF S| 17,000 12,000 5,000
01 ML ESFSHI 17,000 12,000 5,000
OSSAIM L BOAIL Y
12,000,000 12,000
Os=sII2dHussa #2580 74
5,000,000& 5,000
CHEIEE dgas SRsH (b Hed FAU3L)(ME 3,008,000 0 3,008,000
Ae)
AltI 3,008,000
401 Al HIZL S 0HYI 3,008,000 0 3,008,000
AlH] 3,008,000
01 Al&H| 3,008,000 0 3,008,000
OUEIHE XML RAsH(52 4B &
AHZ2) 3,008,000,000& 3,008,000
Albl 3,008,000
Citi: ciesa 238 & 1,100,000 1,100,000
401 Al HIZ S OHbI 1,100,000 1,100,000
01 AlZ2H| 1,100,000 1,100,000
OCUHZE s 28 =&
1,100,000,000& 1,100,000
M Z2t =5t 3,595,559 2,558,984 1,036,575
= 500,000
AlHI 250,000
el 2,845,559
2 & et =X 2l 1,705,559 1,388,984 316,575
101 e124d| 525,174 514,455 10,719
M ORNZZ2NSE S 525,174 514,455 10,719
Otz & Ste=Il 2el 455,350
QIAHI(FEXEE)
89, 7763 x26H 282 6 392,142
gHEg 3,000 x3E 28«6 1,612
2l0i3PERLS
392,142,000 *5% 19,608
 FAYBERLD
392, 142,000 +3.545% 13,902
- IEE2ERES 392, 142,000& *1.75% 6,863
MHESRES 392,142,000 * 1% 3,922




FA A=
M =MBACA A
Rl et =3t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LoIEIIRALES
13,902,000 *12.95% 1,801
SAZE 300,000 26 7,800
-BEY0E 300,000& »26H 7,800
O#XIZ& 22 69,824
- QIAHI(FEREE)
89, 7762 +424 5282 62 60,330
SHEECEEIEE
60,330, 0002 5% 3,017
2oAYBERLS
60,330,000 +3.545% 2,139
- IEE2ERES 60,330,000 *1.75% 1,056
MHEERES 60,330,000 * 1% 604
L IEADIQAEES
2,139,000 *12.95% 278
- SAEUE 300,000 4 1,200
- HEHOS 300,000 x4 1,200
201 er2 3| 90,729 90,129 600
01 AtR2t2|HI 6,000 6,000 0
OAlFMLH HEZ 6,000,000& 6,000
02 S3=gHl 84,729 84,129 600
O=sXAE=E S&5R2= 46,260
& - otrEes 5,580,000 62 33,480
HIRes 900,000& * 122 10,800
-8l MEE 55,000 «3CH* 122 1,980
O=sXzelg AEEHl !X 38,469
v Ew) 90,0002 +6LH 540
- SHEE8 90,0002 *2CH 180
- SHEF 90,0002 1CH 0
- ST 90,0002 *1CH 0
- RRUEYS) 1,743 +1,000L 1,743
- RFO(IHD,ER)
1,626& *1,000L 1,626
SX2el8 SIS L +==2014])
500,000 %10 5,000
=Xzel8 SIIYIHE=1)
500,000& 50 25,000
SIS HHES
70,000& *60H 4,200
206 MH=Hl 182,656 179,400 3,256
01 MZH| 182,656 179,400 3,25
Odt2==, 2ttt S 22l AHE 70,156
24 =2 AR S8 A
5,500 6, 00004 33,000
dollE MK 12,0002 +178& 2,136




A AE=sIID
B =MBATAl T4
el ME32t =3 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
NS 20,0002 *300% 6,000
CHEERA(EFIR, E, WFDIY S)
11,000& x120& 1,320
o 2ar2 40 ZOHY
400 33,5004 13,400
2, s ==HZE
10,000 *1,200%E 12,000
JIEH 22| Kt 2,300,000& 2,300
OHEE =3t Mo 22| XM 112,500
ZSEAZ (D2 H)
13,000 *4, 00004 52,000
ZESIH S HExsS
1,000&%6,5002*33] 19,500
-HZ2 ¥ s 10,0002 600 6,000
1= pu i 2002 *170,0002 34,000
JIEH Zel R (Z==A1E S)
1,000,000& 1,000
305 A2 S 3,000 1,000 2,000
01 i 3= 3,000 1,000 2,000
Oz=olti & (=X1&HY) 3,000,000& 3,000
401 Al&HIZ 20| 904,000 604,000 300,000
01 AlEHI 902,000 602,000 300,000
O L ARSI =X 22l
35,000,000& 35,000
Otz & sttt =X 2el
150,000,000& 150,000
OUXEE A2 2el 30,000,000& 30,000
OFEs R 22 22
15,000,000& 15,000
OLI[E &THE Kel 170,000& *600t 102,000
O21E s, & =4 2 FH|
50,000,000 50,000
OusZd s s 2el
50,000,000& 50,000
OZXEAUR & £F 2el
20,000,000& 20,000
02+ U BIEH =7 A4
20,000,000 20,000
OXIEIS It X33 T4 24|
270,000,000 270,000
OtEME3 o= =&l &4
150,000,000& 150,000
OJtz A=l WES ATH(F2IEC L)
10,000,000& 10,000
03 Al 2 CHYI 2,000 2,000 0
O=XAtS AlEL0HHI 2,000,000& 2,000
AAEX L HELR JI2 =SAA AL 50,000 50,000 0




FA A=
M =MBACA A
Rl et =3t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
OUYEA W HBLR Itz =A%
) At 50,000,000& 50,000
AHHEA HISUS Jt24 JHXIXD| 240,000 300,000 60,000
401 Al HIZ S OHbI 240,000 300,000 60,000
01 AlZ2H| 240,000 300,000 260,000
O&HHEA HEUS Jt2= JHXIXIDI
240,000,000 240,000
Jt2== JHXIXID| SAt 300,000 300,000 0
401 Al HIZL 201 300,000 300,000
01 Al&H| 300,000 300,000
Oot2== JHNIXII| SAk
300,000,000& 300,000
ZEHHES & XS LAY 300,000 300,000
401 AIEHIX R0 300,000 300,000
01 A28l 300,000 300,000
OBYNIE ¢ MR THAIY B4
300,000,000& 300,000
AEFHMAEX JI2UHS SAlE ZEAE 1,000,000 0 1,000,000
= 500,000
AltI 250,000
-l 250,000
401 AIEHIZ SR THYI 1,000,000 0 1,000,000
= 500,000
AltI 250,000
-l 250,000
01 A28l 1,000,000 0 1,000,000
Odld - ZEMHEX] JIZTUHE EA = =4
1,000,000,000& 1,000,000
= 500,000
AlHI 250,000
Tl 250,000
SRS & 5,345,983 4,997,397 348,586
= 1,004,731
AlHI 581,697
el 3,759,555
=N 1,200,850 1,169,862 30,988
= 64,582
AltI 29,060
Tl 1,107,208
SEMY 2 et 874,732 858,744 15,988
101 21A4H| 847,187 830,039 17,148
04 JIZtN2 2N S 2 847,187 830,039 17,148




FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ott=2ZAl 847,187
IAYI (FEXEE)
89, 7762 x48H 28 L 6 723,954
LSy 3,000 0 28«6 4,536
L ECEEIE
723,954,000 *5% 36,198
SHEEEE R
723,954,000 *3.545% 25,665
LMY EERES
25,665,000 *12.95% 3,324
- IEEERE=S 723,954,000 %1.75% 12,670
- MIHEERES 723,954,000 * 1% 7,240
g& d0l= 300,000 48 14,400
SXNENE 300,00024+48H 14,400
orNSt S SUHMHHNLES
100,000 ~48&H 4,800
201 er23 | 17,170 18,330 AT1,160
01 At2teltl 13,510 14,670 21,160
OLEYT #42 X S
1,450,000 1,450
OM=AUNH2E 22X =S4
9,000 *x2& x 170! 3,060
OMZUNIHHZS 224
60,0003 x2& 752 9,000
02 s5=34l 3,660 3,660 0
OM=UY AEHHl FA S
2,580,000& 2,580
OAIEEHl |F4I
1,927 2802 | E+7E 1,080
203 g4l 2,475 2,475
03 A=A =] 2,475 2,475
Odt=0ey & &, =X, 39 2Aelgs =
& 2,500,000 *90% 2,250
O3RA22 X =HE el
250,000 *90f% 225
206 M=l 7,900 7,900
01 M= HI 7,900 7,900
OdtE e T 7,900,000& 7,900
AN L Xt EI(MEXS0ILEISITH) 198,39%6 198,3% 0
= 54,245
AlHI 24,409
Tl 119,742
101 eI24d| 185,797 185,797 0
= 54,245
AltI 24,409
Tl 107,143




FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 185,797 185,797 0
Ot =l =0 a2t 185,797,000& 185,797
= 54,245
Altl 24,409
Tl 107,143
201 er23 | 12,599 12,599
01 At2teltl 9,800 9,800
Otgas 2 553
700,0002 7 & *2CH 9,800
02 S3=gHl 2,79 2,79 0
Ottle=2 & &3
9992+ 100c| EA =20 <7 & 2,79
SrET A SR (B ) 2,175 2,175 0
= 870
AlHI 391
-l 914
201 et 3| 683 683 0
= 280
AlH] 125
-l 278
01 AtR2te|HI 683 683 0
Ott=dst g4 683,000 683
= 280
AlHI 125
Tl 278
202 048l 1,492 1,492 0
= 590
AlHI 266
Tl 636
01 =LHAHI 1,492 1,492 0
Out=dlst £ 1,492,000 1,492
= 590
Alt] 266
Tl 636
AEIE X 22l (FY) 11,700 11,700 0
= 4,680
Alt] 2,106
Tl 4,914
401 Al HIZL 01| 11,700 11,700 0
= 4,680
Albl 2,106
Tl 4,914
01 Al&HI 11,700 11,700 0




FA A=
mu: NRINRS X4
Rl MEYX EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONE0 ok 871 S
11,700,000& 11,700
= 4,680
Al 2,106
Tl 4,914
METSIEHIES (3 9,217 9,217 0
= 3,687
Al 1,659
Tl 3,871
206 MH=HI 9,217 9,217 0
= 3,687
AlHI 1,659
Tl 3,871
01 M= HI 9,217 9,217 0
Out=2 8l ¢ 9,217,000& 9,217
= 3,687
AlHI 1,659
-l 3,871
AERESA2E(FY) 800 800 0
= 320
AlH] 144
Tl 336
405 AtatsE = 800 800 0
= 320
AlH] 144
Tl 336
01 ML ESFSHI 800 800 0
OEUEREI| AT
800,000 *1CH 800
= 320
AlHI 144
Tl 336
SETH A E 2| (XH2) 1,950 1,950 0
= 780
AlHI 351
Tl 819
201 Ler23| 1,950 1,950 0
= 780
Al 351
Tl 819
2 352484l 1,950 1,950 0
OLMEZTAIE AXZMAIAL OtUH & S
&2 (150H) 130,000 = 1574 1,950
= 780




FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 351
Tl 819
METSIEHIES(X2) 15,000 0 15,000
405 AtatE = 15,000 0 15,000
01 ML ESFSHI 15,000 0 15,000
Ogsta =8 ¢ 15,000,000 15,000
METHHUS(METEE SIED) 86,880 86,880
308 AtAIEMSOIE 86,880 86,880
07 HXHH 252 86,880 86,880
OdtETHUS(M=2dsE X)) Xt
Hl 86,880,000 86,880
sty 2e| 4,145,133 3,827,535 317,598
= 940,149
Altl 552,637
Tl 2,652,347
MEES A 454,065 420,814 33,251
101 e124d| 172,258 168,957 3,301
M ORINZZ2NSE S 172,258 168,957 3,301
OuteEs 3 70,224
- QIAHI(FEREE)
89,7762 +424x282 63 60,330
SHEECEEIEE
60,330,000 *5% 3,017
RoEEse
60,330,000 +3.545% 2,139
LoARYEERES
2,139,000& *12.95% 278
- IEEERES 60,330,000 *1.75% 1,056
MIHEERES 60,330,000 * 1% 604
- HEHO= 300,000 ~4&H 1,200
- SAEE 300,000 x4 1,200
orMSt & SUIMHHNLES
100,000 2! *424 400
(OF PSSP ESl 102,034
QIAHI(FEXEE)
89,7763 x0H 282 x4 90,4%
=pHSEERES
90,495,000 5% 4,525
=UALEH LGS
90,495,000 *3.545% 3,209
LA RYEERES
3,209,000 *12.95% 416
- IEE2ERES 90,495,000& *1.75% 1,584
MHESRES 90,495,000 1% 905




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- OHNsE S SHMiEES
100,000 9 900
201 er2 3| a4.77 33,227 10,950
01 AtR2te|HI 19,720 13,210 6,510
O20I1st&3d ot A
333,000 52| * 107 2 16,650
OtEa AFHMH LK
100,000 * 10H 1,000
OBFARA B4I| Y%t
60,0003 * 12 720
OMSLEA SA 9,000 *150&H 1,350
02 s3=gHl 24,457 20,017 4,440
OBXIE0D| & otaa HIIR=s
16,000,000 16,000
OAlE &l s5=4I
1,713&*1002|E1+63 857
ORI (&Y, =X, 3¥) &2 X
50,0002 x5 * 12 3,000
OsHd U CCTV Sele=
70,000 x50 * 122 4,200
OtLERgs &7 400,000 400
206 M=l 6,630 6,630
01 M=4l 6,630 6,630
ASY A A P 6,030,000& 6,030
OM=HHI(M=I], & &) 600,000& 600
401 Al HIZL S 0HYI 230,000 212,000 18,000
01 Al&HI 230,000 212,000 18,000
ORI A =+ 10,000,000 10,000
Outg &= Hel 30,000,000& 30,000
OUEU A= FA2C
30,000,000 30,000
Odte 18X Molg= ZHISA
50,000,000 50,000
O™US AUX=E SH 30,000,000& 30,000
OUES 45222 Hi=Al2 ZHI
80,000,000 80,000
405 AtatE=H 1,000 1,000
01 ML ESFH =S| 1,000 1,000
Odegll 2 1,000,000& 1,000
AESE TE(HEAY) 300,000 212,000 88,000
401 Al HIZL 201 300,000 212,000 88,000
01 Al&HI 300,000 212,000 88,000
dEs desd =d
300,000,000& 300,000
AHXAEAIE K1 243,000 162,000 81,000




2A:

X XH -
o=

=9l dgdd EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 170,100
AltI 51,030
-l 21,870
401 Al HIZ R 0HbI 243,000 162,000 81,000
= 170,100
AltI 51,030
-l 21,870
01 AlZH| 243,000 162,000 81,000
O~AEXI A2 (3ha) 243,000,000 243,000
= 170,100
AlHI 51,030
Tl 21,870
AZEAIE 229l 0|47 FH 1,540 880 660
= 1,078
AlHI 323
Tl 139
401 AIZHIZ S0 1,540 880 660
= 1,078
Al 323
Tl 139
01 Al&H| 1,540 880 660
OAHZAIE 22t HE(7HA)
1,540,000 1,540
= 1,078
Al 323
Tl 139
TS dEAMH S 52X AHEAIE 22AEH 880 880 0
401 AlZHIZ SO 880 880
01 Al&H| 880 880
O7ES §EME S S72X AHZAIZE 2
2483 880,000 880
Aol =4 2ie| 14,000 21,000 AT7,000
= 9,800
AlHI 2,940
Tl 1,260
401 AIEHIX R0 14,000 21,000 A7,000
= 9,800
AlH] 2,940
Tl 1,260
01 Al&HI 14,000 21,000 AT7,000
OAtg e 2el(E4)(204)
14,000,000 14,000
= 9,800
Alt] 2,940




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | 1,260
APALER 2 R4 XIS ABHEA 7,000 7,000 0
= 3,500
AltI 1,050
-l 2,450
401 AlEHIZ S 0HbI 7,000 7,000 0
= 3,500
AlHI 1,050
Tl 2,450
01 Al&H| 7,000 7,000 0
OSFALER 2o 22X ZA
7,000,000 7,000
= 3,500
AlH] 1,050
T4l 2,450
ArETHGH Xt EII(AFAIEHS Z 0l 2 E) 149,710 60,282 89,428
= 59,884
AlH] 26,947
Tl 62,879
401 Al HIZL 201 149,710 59,882 89,828
= 59,884
Al 26,947
=1 62,879
01 A&t 149,710 59,882 89,828
OARITIBHTIR] 1 (AAERBI B O 2 EH)
149,710,000 149,710
= 59,884
Altl 26,947
Tl 62,879
Sete AN S 300,000 0 300,000
401 Al HIZL 201 300,000 300,000
01 Al&HI 300,000 300,000
Ozsa ANBEK =2
300,000,000 300,000
=L XL (HEAY) 982,888 1,000,388 A17,500
AlHI 136,000
Tl 846,888
101 ©1AH| 122,888 120,388 2,500
M ORNZZ2NSE S 122,888 120,388 2,500
O=ZZxd JIZtHZ22X &3 122,888
QIAH| (FRXEE)
89,7763« 7 H+28 L6 105,577
oUHsEER 105,577,000 5% 5,279




FA A=
mu: NRINREY X4
Rl g2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
ET RN
105,577,000 *3.545% 3,743
LEER 3,743,0002 *12.95% 485
CIEEEE 105,577,000 *1.75% 1,848
MHEER 105,577,000 * 1% 1,056
SN 300,000 74 2,100
dEY02 300,000 7 2,100
=2 Xd JHNZ224 AEES 7
100,000 +7& 700
401 AIEHIZ R 0HYI 860,000 880,000 /20,000
Alt] 136,000
Tl 724,000
01 Al&H| 860,000 880,000 /20,000
O=Zxd € 22 300,000,000 300,000
Osetz Zhl 160,000,000 160,000
AltI 136,000
Tl 24,000
Ossitt 9SF=1E 78 Stz EH|
100,000,000 100,000
O7E 234 U2 Sa2 FY|
100,000,002 100,000
Ozstdt =2 SHR(2LTA) B
200,000,000& 200,000
LT AIE (HEALY) 160,800 28,800 132,000
Altl 122,208
Tl 38,592
401 Al HIZL S 0HYI 160,800 28,800 132,000
AlH] 122,208
Tl 38,592
01 Al&H| 160,800 28,800 132,000
O EEFAY 28,800,000& 28,800
AlHI 21,888
Tl 6,912
OYEAINEAI 132,000,000& 132,000
Altl 100,320
Tl 31,680
=l MESXH2Y /S 24 171,996 85,998 85,998
= 85,998
AlHI 25,79
Tl 60,199
307 @I2t01 & 171,996 85,998 85,998
= 85,998
AltI 25,79
Tl 60,199




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 171,99% 85,998 85,998
O=dlld tHE=sd2Y A5 =29
171,996,000& 171,996
= 85,998
Alt] 25,799
Tl 60,199
ZUR Sxd 24,100 22,000 2,100
= 12,050
Al 3,615
Tl 8,435
401 Al HIZL 201 24,100 22,000 2,100
= 12,050
AlHI 3,615
Tl 8,435
01 Al&HI 24,100 22,000 2,100
O2UR s94xE 24,100,000 24,100
= 12,050
AltI 3,615
-l 8,435
OIAIZHA Mg SU=IH0| 488,160 483,160 0
= 244,080
AlHI 73,224
-l 170,856
401 AlZHIZ SO 488,160 483,160 0
= 244,080
AlHI 73,224
Tl 170,85
01 AlZH| 488,160 483,160 0
O0IMIS XM &=t
488,160,000 488,160
= 244,080
AlHI 73,224
Tl 170,856
Z MO0 137,212 204,176 66,964
= 68,606
AlHI 20,582
Tl 48,024
401 Al HIZ S 0HbI 137,212 204,176 AN66,964
= 68,606
Alt] 20,582
Tl 48,024
01 Al&H| 137,212 204,176 66,964
OZE X2t
61,272,000& 61,272




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 30,636
AltI 9,191
-l 21,445
Ot =M=t 75,940,000 75,940
= 37,970
AltI 11,391
-l 26,579
28t Holls 2l 116,649 23,550 93,099
= 83,571
AltI 11,665
-l 21,413
401 AlZHIZ SO 116,649 23,550 93,099
= 83,571
AlHI 11,665
Tl 21,413
01 AlZH| 116,649 23,550 93,099
OUHEHE HLLIRFAL S
116,649,000 116,649
= 83,571
AlHI 11,665
Tl 21,413
ALISRHASE 2 147,197 90,229 56,968
= 104,157
AlHI 14,720
Tl 28,320
401 AlEHIZ S 0HbI 147,197 90,229 56,968
= 104,157
Altl 14,720
Tl 28,320
01 Al&H| 147,197 88,229 58,968
OALIRHASE 2l 147,197,000 147,197
= 104,157
Altl 14,720
Tl 28,320
ATHOH L K2l ZOI(AHEHSHE LM SH-LAEE) 190,000 169,661 20,339
= 95,000
Albl 28,500
Tl 66,500
401 Al HIZL S 0HYI 190,000 169,661 20,339
= 95,000
AltI 28,500
-l 66,500
01 AlZ28| 190,000 169,661 20,339
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Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OatE Hol SO Z S M
190,000,000 190,000
= 95,000
Al 28,500
Tl 66,500
ATHOH L Kt ZOI(AHEHSHELHS-I2EE) 4,650 2,852 1,798
= 2,325
Al 698
Tl 1,627
401 Al HIZL 201 4,650 2,852 1,798
= 2,325
AlHI 698
Tl 1,627
01 Al&HI 4,650 2,852 1,798
OARITHEH L X2 (AF2 1 Z 02 2 RIS (X
2) 4,650,000 4,650
= 2,325
AlHI 698
-l 1,627
A THOH I X AL 200,000 200,000
401 Al HI2L 20| 200,000 200,000
01 A&t 200,000 200,000
OMRITHEH SIBIX C2 H2ZA B
200,000,000 200,000
ASEMEIAE RO 2E(HEALY) 51,286 47,868 3,418
AltI 33,336
Tl 17,950
101 212A4H| 51,286 47,868 3,418
AlHI 33,336
Tl 17,950
M ORNZZ2NSE S 51,286 47,868 3,418
OEAl=RZe & 51,286,000& 51,286
Al 33,336
Tl 17,950
dH2LIH(LE =X D) 264,194 380,483 116,289
el 2| 215,329 334,950 A119,621
el E2d| 215,329 334,950 A119,621
101 21AH| 214,329 333,450 A119,121
02 JIet&R 2= 80,469 0 80,469
OAIRMIERIZDH 2t S (1Y) 47,182
JlEa 3,030,000& «12& 36,360
CAZRI2R Y
10,4163 %30A1 2+ 123 3,750
E=E 40,0002 123 480




SN ARSI
Mo HHSA| (M=KD
s lIEE2ghl EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
- HAUZAL] 140,002+ 122 1,680
. g x|
175,0008+0.875A1 2+ 128 1,838
WEIERS
50,00021%0.875A1 2k 1288 525
o1t A
3,080, 000! #B44+86%+0. 4764+ 77 Al 2t 803
E4ER4y
3,030, 00021 x84%+5kx 114, 281k 1284 1,746
OAlZHI DRI 'O 2(19Y) 33,287
0128 1,870,0002!» 128 22,440
A2
9,860 x30AI 24+ 12 3,550
OiEag 140,000+ 122 1,680
- HUZ AL 140,000+ 122 1,680
- Mg x|
175,00021+0.875A1 2+ 128 1,838
IR
50,0001%0.875A1 2+ 128 525
o1t A
1,870, 000! +4%86%+0. 4764+ 77 Al 2t 4%
S4ERey
1,870, 0002 +840%+5%+114. 281+ 128 1,078
03 Z2E(DI|HA) 22N 133,860 333,450 199,590
O=Xl, 38 22 131,200
123 3,500,002 224 » 122 84,000
Moy 3,360
IS4 (IS )
40,0002 2%+ 128 960
IIESY(ELS)
20,0008 +102* 122 2,400
=2|2Mt| 8,960
~HUZ A 140,000 x2% » 128 3,360
- E S| 3,500, 0002 +2280% 5,600
ZN224Y 34,880
-su2s4y
21, 1651 *BAI 2H 1509522 522 26,414
IR R EILY
21, 16521 +BA| 222§ 252! 8,466
OS A0S 3,500, 0002 ¥38kx2% 2,660
201 Y2 t| 1,000 1,500 A0
01 Al 22| 1,000 1,500 500
OUl= - orx3g} - ysis S
250,000 x4 1,000
PICET] 48,865 45,533 3,332
=2 48,865 45,533 3,332
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